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Bildung:

"did" + Subjekt + Infinitiv

Beispiele:

He went to the cinema last week. — Did he go to the cinema last week?

She drank a coke yesterday. — Did she drink a coke yesterday?

Fragestellung mit "was", "were", "could"

Bei "was", "were" und "could" darf kein "did" verwendet werden.
Bildung:

"to be" + Subjekt

Beispiele:

He was in Paris last year. — Was he in Paris last year?

They were tired yesterday. — Were they tired yesterday?

She could drive home alone. — Could she drive home alone?

Fragestellung mit Fragewortern:

Bildung:
Fragewort + "did" + Subjekt + Infinitiv
Beispiele:

He watched TV yesterday evening. — When did he watch TV?

She met him at the cinema last week. — Where did she meet him last week?

Verneinung:

a) Bildung mit did:
Subjekt + "did" + "not" + Infinitiv z.B. | didn't drink.
a) Bildung mit was/were/could:

Subjekt + "was/were/could” + "not" z.B. | wasn't. They weren't. She couldn't .



